’ﬁ% 2 (B 7)) 3= B8

AP FEATERI2ER [§A P2 - A 22t TR2 ] LRGP i

YRR % PR B AR AY pgoc112#03” OBB AKPpE - S HFEY EFAY
7 REd Ly FRELFE .
. P P P Fl4 3 (C=A-B) o
= 'Y R /E £+ (A 'Y g /E £+(B)
| WA ET 2000 6 2000 6
18000 18000 0
2 B BB} 1000 6 1000 6
RERFS
3 Y 343 1 343 343 1 343 0
4 1R R AT 0 0 0 0 0 0 0
5 5% Sl 0 0 0 0 0 0 0
6 Eoaz i 90 60 5400 90 60 5400 0
k% 20 60 1200 20 60 1200 0
1| %%
% 80 8 640 80 8 640 0
8 a2l 2000 1 2000 2000 1 2000 0
9 L 4000 1 4000 4000 1 4000 0
10 FPUAR 0 0 0 0 0 0 0
11| gt (@) 0 0 0 0 0 0 0
12 ERCR-AQIRESY) 0 0 0 0 0 0 0
13 3F (B % 51) 0 0 0 0 0 0 0
14 Fe it 1579 1 1579 1579 1 1579 0
&3+ 33162 33162 0
ENIEEE S E FF FRRETIFREFENRAAEET AR AT RN KNI N A RREI VIR A BB LS AP EAS L B AR
CAE CEAR AN N ’i"ff?#ﬁ%fﬁg BHEAED ~ BL(P FCRE e

7’»?%’(: ‘ a@]l[_{: ‘g-‘:,;_L: ’F&i%:




